ADVANCED/P2 PAIRS TRACS September 13, 2019 Judge: Rebecca Hill
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First Dog runs circles

Second dog runs squares

Mixed height pairs can choose sides

Dogs may be on leash, handler may hold dog during baton exchange




ADVANCED/P2 GAMBLERS TRACS September 13, 2019 Judge: Rebecca Hill Next dog in @ gamble horn
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1-2-3-5 Pt System (A-frame = 5 pts) 25 sec opening (13 pts needed in opening)  Joker worth 20 pts.
C24/22/20 = 16 sec C16/14 P20/16/14 =17 sec C10P12=18sec P8 =19 sec
No contact to contact, back to back OK Start at the START line (BIDIRECTIONAL)




ADVANCED/P2 STANDARD TRACS September 13, 2019 Judge: Rebecca Hill Next dogin @ 15
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ADVANCED/P2 SNOOKER TRACS September 13, 2019 Judge: Rebecca Hill Next dog in @ 6a
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Ali obstacles bi-directional in the opening COURSE TIMES:

|| Must attempt all 3 reds C24/22/20 = 45 sec

2( All obstacles performed as numbered in closing C16/14 P20/16/14 = 47 sec 20

Combos can be taken any order/direction
Fix all off course within a combo for 0 points

C10 P12 =49 sec

P8 =51 sec
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ADVANCED/P2 JUMPERS TRACS September 13, 2019 Judge: Rebecca Hill Next dog in @ 14
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